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[IpakTuka nenenus (2) Nwmsi:
3am0/IHATE NPOIYCK B KAKIOM MpHMepe.
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[IpakTuka nenenus (2) Nwmsi: K104 K NPaBHILHbIM OTBETaM
3am0/IHATE NPOIYCK B KAKIOM MpHMepe.
22= 1 42= 2 10:2= 5 82= 4
20:2= 10 16:2= 8 142= 7 182= 9
1222= 6 6:2= 3 82= 4 42= 2
18:2= 9 1222= 6 10:2= 5 20:2=_ 10
6:2= 3 22= 1 142= 7 16:2= 8
22= 1 82= 4 6:2= 3 10:2= 5
14:2= 7 42= 2 20:2= 10 18:2= 9
1222= 6 16:2= 8 4.2= 2 10:2= 5
6:2= 3 82= 4 20:2= 10 16:2= 8
1222= 6 14:2= 7 18:2= 9 22= 1
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4.2= 2 14:2= 7 4.2= 2 14:2= 7
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18:2= 9 82= 4 20:2= 10 16:2= 8
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1222= 6 14:2= 7 182= 9 10:2= 5
182= 9 82= 4 4.2= 2 10:2= 5
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